GT

6T ( )

14034-AK001

E04241-K00030-00 Ver.3-3.01

M6
( LOCTITEr 241)
( 6 7 / 17.5

27

50

65

3-3.01

2009/04

2009 04 25 (




L | Ne | |

1 |G17410-K00090-00 Assy( )

2 |G17415-K00050-00

3 |E04241-K00030-00 o
M 2
(617415-K00050-00)
( )
(617415-K00050-00)
(2) ( ) (
[ ]
¢ 2-1)
L]
¢ 2-1)
10 20kPa
A
. GT




€9

)

P1

M6 (

Assy (
)

) (x 1)

M6

N

M6

90

1-1-2

90




©) M3(8 )
€))
®)

(6) (1) M6
(" 1-1-4)

Q)

( 1-1-3)
( 1-1-3)
( 1-1-3)

( 1-1-4)

1-1-3

1-1-4




1 M6,
M6
( 1-2-1)
1-2-1
(2) 1-1.(7)
( 1-2-2
P2 (x 1)
(3)1-1.(6) M6
( 1-2-2)
(4) M6 90
( 1-2-2)
(3)1-1.(5)

( 1-2-2, 1-2-3)

A

(6)1-1.(4)
) M3 8
( LOCTITEs 241) ( )
(8) M3
T=1.0
9A) M6

1-2-3




1)

) Assy
]
EVC EVC OFF
EVC
¢ 2-1)
2
) Assy ( =
) w
ul
3@ =
[ ] ;
( ) "
( ( ) N
) 1
( 1 2-2) .
10 20kPa 2-1
1 (
(kPa) 80 | 100 | 120
6 10 14
( 2(_2) ) Ne2 (617415-K00050-00) 3 6 10
: of 1
(€)) Assy - u
—"_; ]
0] @
)
¢
L
2-2
€Y)




GT ACTUATOR
SPRING REPLACING INSTRUCTION

HKS

NAME OF PRODUCT GT ACTUATOR (Large - Long)

PART NUMBER 14034-AK001

APPLICATION UNIVERSAL TYPE

REMARKS [NOTE]
The following items are required to install this product:
*Nut M6
* Thread Locking Material (LOCTITEe 241 is recommended.)
* Metal Collar (I.D.:6-7mm / O.D.: 17.5mm — 27mm / Length:

50mm-65mm)

* HKS Actuator Upgrade Kit

NOTICE

This manual assumes that you have and know how to use the tools and equipment necessary to safely
perform service operations on your vehicle. This manual assumes that you are familiar with typical
automotive systems and basic service and repair procedures. Do not attempt to carry out the operations
shown in this manual unless these assumptions are correct. Always have access to a factory repair
manual. To avoid injury, follow the safety precautions contained in the factory repair manual.

REVISION OF MANUAL

Rev. Number Date Manual Number Details

3-3.01 2009/4 E04241-K00030-00 1% Edition

Published in April, 2009 by HKS Co., Ltd. (Unauthorized reproduction is strictly prohibited.)



PARTS LIST

NO. PART NUMBER DESCRIPTION QT IMAGE REMARKS
1 G17410-K00090-00 |[Actuator Assembly (Large - Long) 1 -
2 G17415-K00050-00 |[Actuator Spring 1 i
3 E04241-K00030-00 |Instruction Manual 1

PREFACE

(1) To use this product, the actuator spring can be selected from the following 2 types
depending on the vehicle’'s boost pressure characteristics:

@ Standard Spring (assembled with the actuator)
@ Provided Spring (P/N G17415-K00050-00)

If the boost pressure decreases excessively when using the standard spring, replacing the
spring with the provided spring (G17415-K00050-00) can reduce the amount of decreased
boost pressure.

(2) Changing the length of the turnbuckle (rod end) can be used to adjust the boost pressure
(adjustment of the pressure at the beginning of the swing valve’s opening).

@ |If the boost pressure does not go higher than the designated value:
Rotate the turnbuckle to shorten the actuator rod (D2-1) to increase the boost pressure.

@ If the boost pressure does not go lower than the designated value:
Rotate the turnbuckle to lengthen the actuator rod (D2-1) to decrease the boost pressure.

The actual boost pressure is approximately 10 -20kPa lower than the pressure at the
beginning of the swing valve’s opening.

CAUTION

® The boost pressure must be set to the engine’s specifications. Make sure
the boost pressure stays at that set pressure value. Excessive boost
pressure settings may damage the engine.




1. Replacement of the Actuator Spring

1-1. Disassembling the Actuator

(1) Install the M6 nut and the metal collar to the actuator
rod. The M6 nut and metal collar are not included.
(Diagram 1-1-1)

» P1: Actuator Assembly Large (x1)
* Metal Collar (required separately)
* Nut M6 (required separately)

Metal Collar

Metal Collar E

D1-11

(2) Tighten the M6 nut until the actuator rod length becomes 90mm as shown in Diagram 1-1-2.

D112 B




(3) Remove 8 M3 bolts from the Actuator Assembly. Keep
the removed bolts for later use. (Diagram 1-1-3) M3 Bolt I -
Syt =
(4) Remove the upper case from the Actuator Assembly. Upper Case I 1
(Diagram 1-1-3) T a—
A - l
(5) Remove the Belophram from the Actuator Assembly. ? = J:rJ
(Diagram 1-1-3) R
ol i
Belophram —» I;,_
gw}
=
A T B
S >
- _.;I
.'.'.ﬁ S -
D113 E

(6) Remove the M6 nut and the metal collar installed in
1-1.(1). (Diagram 1-1-4)

(7) Remove the rod and the spring from the Actuator
Assembly. (Diagram 1-1-4)

N ]

=
Metal Collar Rt

T

MG Mut .

D114




1-2. Assembling the Actuator & Replacing the Actuator Spring

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

Verify positions of the M6 bolts, the dust seal,
and the spring seat on the lower case as shown
in Diagram 1-2-1. Make sure the M6 bolt head
is placed on the bottom of the lower case as
illustrated in Diagram 1-2-1.

Lower Case Spring Seat

Install the Actuator Spring and the rod removed in
1-1.(7) as shown in Diagram 1-2-2.

* P2: Actuator Spring (x1)

Install the M6 nut and metal collar removed in
1-1.(6) to the rod as shown in Diagram 1-2-2.

Tighten the M6 nut until the actuator rod length
becomes 90mm as shown in Diagram 1-2-2.

Reinstall the Belophram removed in 1-1.(5).

Adjust axis positions of the rod and the lower case
to fit, and make sure the edge of the Belophram is
held with the lower case. (Diagram 1-2-2, 1-2-3)

CAUTION

@® The edge of the Belophram must be held
with the lower case. Otherwise, boost
pressure will increase and the engine may
be damaged.

Reinstall the upper case removed in 1-1.(4) using the
removed M3 bolts.

Temporarily secure the upper case using the
removed M3 bolts. Apply thread locking material
such as LOCTITEg 241 to the bolts before
tightening them.

* Thread Locking Material (required separately)
¥ LOCTITEg 241 is recommended.

Tighten the M3 bolts in diagonal order using the
following designated torque settings.

Torque Spec. N-m: T=1.0

Rem(osle the M6 nut and the metal collar installed in
1-2.(3).

M6 Bolt Dust Seal M6 Bolt
D121
Adjust these axis postions.
e g
-\_3 __'_-?.-'
D123




2. Adjusting the Boost Pressure

(1) Install the bracket and turnbuckle (Actuator Rod, Rod End) included with the actuator
upgrade kit to the Actuator Assembly.

® |[f installed with an EVC, turn off the EVC before
adjusting the actuator. Readjust the EVC after the
actuator installation is completed.
® |If the spring was replaced, the boost pressure must
be readjusted by changing the actuator rod’s @?._
length. (Diagram 2-1) 'nx“-“/ o i
(2) Install the actuator assembly to the turbocharger & -
and adjust the turnbuckle (Actuator Rod, Rod End) =l
without pulling the actuator rod. ]
A
(3) Shorten the actuator rod’s length one rotation. / E
]
® The boost pressure increases when the actuator =
rod is tightened (shortened), and is reduced when s
the rod is loosened (lengthened). D21

® Adjust the boost pressure referring to Table 1
below. (Table 1, Diagram 2-2)

® The boost pressure setting will be approximately 10 to 20 kPa lower than the pressure at
the beginning of the swing valve’s opening.

Table 1. Boost Pressure Setting
(The pressure at the beginning of the swing valve’s opening to the actuator rod’s length)

Pressure at the beginning of the swing valve’s opening (kPa) 80 100 120
Actuator Rod's Length (mm) Default 6 10 14
(Refer to Diagram 2-2) Replaced to G17415-K00050-00 (P2) 3 6 10
CAUTION

® The boost pressure must be set Q

to the engine’s specifications. i

An inaccurate setting may e - '

damage the engine. ( N W ‘7

(4) Pull the actuator rod and install the actuator to
the turbocharger. 0

—5r J? ﬂ

.

Length of Actuator Rod wasz pulled.

D22

3. Installing the Actuator to the Vehicle

(1) Install the actuator to the vehicle using the bracket and the turnbuckle (Actuator Rod,
Rod End) included with the actuator upgrade kit in accordance with the manual of HKS
Actuator Upgrade Kit.



